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1) sinz = 0.4848

z=29°

3) siny = 0.6561

y = 41°
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32
cosx = —

35
cosx =.9143
x = 24°

30
cosx = —

31
cosx =.9677
x = 15°
tanx = 3

6
tanx =.5
x = 27°
tan@ = U

8
tan @ =.7273

6 = 36°
cosO = 2

7
cosf = 0.5714
6 = 55.2°

cosl = 2

7
cosd = 0.5714
cos @ = 55.2°
tan@ = 16

10
tan6d = 1.6
tang = 58°
cosf = 23

13.2
cos 8 = 0.7045
cos B = 45.2°

21) tan@ = Z
tanf = 1.25
5 tand = 51.3°
L
4
23) sing = =
12
10 A sinf = 0.8333
A sinf@ = 56.4°
25) 12 cosf = —
15.7
O 9 cosd = 0.5732
15.7
27) tanf = »
14
tanf = 1.0714
14 tan g = 47°
L] 7
29) 15 sinf = —
14
2 sinf = 0.5
14
31) (x)tan 62 = % (x)
xtan62 _ 284
C 28.4 B tane2 ~ tane2
28.4
x =
tan 62
« _ 284
1.8507
Y
6 x =151
15.1%2 + 28.42 = y?
A

228.01 + 806.56 = y?
V1034.57 = ,/y?2

322=y
z=90—62
z=28°



2.9
7
tanx = .4143

x = 22.5°
y=90—225
y = 67.5°
292 +7%2 =22
8.41 + 49 = 22
V5741 = Vz?
7.6 =2z

33) tanx =

2.9 7

35) sinx =%
sinx = .4286
x = 25.4°
y=90-254
y = 64.6°
32 +2z2=77
9+2z2=49
-9 -9
VZZ = V30
z=26.3

37)

39)

(16) sin52 = 116(16)
16sin52 = x
y  16(.7880) = x
16 12.6 = x
12.62 + y? = 162
158.76+y2 = 256
—158.76 __ —158.76

Jy? =97 Za
y=99
z=90-52
z = 38°

(8)tan45 = >(8)
8tan45 = x
8(1) =x
8=x
3 82 + 82 = y?
8 64 + 64 = y?
JIZ8 = /77
113 =y
z=90-45
z = 45°



